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ECONOMICS

Paper : ECO-SE-4014

( Data Analysis )

( Skill Enhancement Course )

Full Marks : 50
Time : 2 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer any four of the following questions :
1x4=4
o9 R CICAT it 2ps ey fran

(a) Define rank correlation.

&N TDTFHI R 03w |

(b) Find geometric mean of 8 and 2.
8 WIF 27 YLTed Wiy Tfered |

(c) Define median.
/ T AL ot |
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(d)

(¢)

()

(h)

(2)

Find range from the following :
w1 fifyl wurg o) sifor Blaear
150, 100, 200, 400,

What is skewness?

Bl 7
Mention one merit of scatter diagram.

ol Baa b1 we SrEy w41

Can correlation coefficient be greater
than one?

HDTHR BIP P G|6F B’ [T 7

Wha is parameter?
of1oe 2 7

2. Answer any three of the following questions :

2x3=6
word A creen Fofinn e Taa fin
(a) Write two uses of MS-Excel.
f MS-Exceld 45! 357217 for4 |
(b) Find mode from the following data :
God GUA 4 I2AF Sferea
X f (frequency)
(I35313@n)
5 2
10 6
15 13
20 i
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(3)

{c) Mention two  disadvantages  of
/ arithmetic mean.

FEER TR o1 SR SCER A |

(d) Mention two measures of dispersion.
R 701 9171 T 4 |

(e) What do r=0 and r =1 mean?
r=09<%r =13 % @R

() Distinguish between an estimate and an
estimator.

o UIF HFHa] TER NeF Fefg 4 |

3. Answer any two of the following questions :

Sx2=10
T R G ol o e fray
(a) Find median from the following data :
TR ©UR {1 TN Sl
Marks No. of Students
(799) (%1g-%1319 7530)
10 8
20 15
30 22
40 20
50 10
60 D
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* (4)

(b) Explain the merits of mode as a
/ measure of central tendency.

@FER ARITOR Tl B IET STIR IR

91

() Find harmonic mean from the
following :
were e zqrae T ST

5, 7, 10, 13, 15, 20, 25, 28

(d) Explain the difference between mean
deviation and standard deviation.
5T oo WF Ye [Roeime W& 4
91|

() Explain the main features of
Spearman’s rank correlation coefficient.

PrRReTR @ TR QIR T APEPEE

<RI <247 |

(/ What is an wunbiased estimator?
Explain.
THATS ST (7 T F47 |

4. Answer any three of the following questions :

10x3=30
wiq R e fofnt ag e fran -

(@) What are the qualities of a good
average? Discuss. {5

B! ST T GPTR 1 6 2 weasen 304 |
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(§)

(b) Find arithmetic mean

MELCE R ETRCIECE IR
A f
0-10 5
10 - 20 10
20 - 30 25
30 - 40 30
40 - 50 20
50 - 60 10
(¢) Find mode from the following data :
O] B A1 I Bferaa
Size of Garment No. of Persons Wearing
(CoMRIT Coirey) (Forarcenaq see)
28 10
29 20
30 40
31 65
32 50
33 15

(d) Calculate standard deviation from the
following data :

TeTq O 911 i vem Sferea
Profits (¥ Lakh) No. of Companies
IS (<14 51) (CPr=#(113 77237T)
0-10 12
10 -20 17
20 -30 23
30 -40 39
40 - 50 16
50 - 60 03
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!fi

(6)
(e) Calculate Karl Pearson’s coefficient of
skewness :
=7 PR SeoR SIS SRS :
X f
125 28
17-5 42
225 54
275 108
325 129

(f) Discuss how scatter diagram method is
used for studying correlation.

T SYEEE AR o4 P omle R
IR I W, & 41 |

(g) Find Pearson’s correlation coefficient
from the following data and interpret
the result :

T O o[ PRI T SIS Sfenea
HF FAFAC0] I F90 :

Marks in Economics Marks in Statistics
(FATTF) (AR R 759)

48 45
35 20
17 40
23 25
47 45
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T e g

(7))

(h) From the following data, obtain the two
regression coefficients :

OO O] A AR BT 751 T -

X Y

6 9

2 11

10 5

4 8

8 7
* % %
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